
Table S1. Percentage of failed convergence, PoF (%) generated by Newton-

Raphson method used with (NRf) and without (NR) relaxation factor in solving of 

Equation (6), ε = 5 ∙ 10−𝑛. 

 

𝝀𝒐 
 n 

Equation 6 

NR NRf 1P max 1 1P min 2 

 

𝜆ℎ 

16 2.16 0.28 2.16 2.15 

14 0 0 0 0 

 

𝜆𝑤𝑗 
16 2.11 0.28 2.11 2.08 

14 0 0 0 0 

 

𝜆𝑚𝑑 

16 2.11 0.28 2.11 2.11 

14 0 0 0 0 

1One-point methods – maximum value of PoF (%) from Table 12 
2One-point methods – minimum value of PoF (%) from Table 12 

 


